PROFESSIONAL EXAMINATION BOARD
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@bgggfpgmtm 18th Feb 2019 02:30PM

Topic:- Child Development & Pedagogy (CDP)

1) Thematic Apperception Test was designed by . Fawg-ererate e (Qﬁﬁw 'Q'Clﬁ'q"\"ﬁ %W) GRI wyifehd frar
T UT|

1. Eysenck and Allport / 3-]1%@37 3R 3TeaE
2. Galton and Kretchemer / 3TTecsT 3R shedAT
3. Jung and Sheldon / ?T&ﬂ'{ AeseT

4, Murray and Morgan / #X 3R AT

Correct Answer :-

- Murray and Morgan / #X 31X AlTa

2) You are a pediatric resident. A 7-year-old Tarun is suspected to suffer from autism. You referred this boy to see an educational psychologist for
assessment. The education psychologist sends a report to you and you need to explain the findings to his mother. His strength is MOST likely found in
which of the following areas?

/ 39 U STafIfhed® 8| 7 9Td & a9V B SHifesH § Nifed 811 &1 X YT YA 59 91699 &1 e P e th
Qe AATHE ) 3T & forg Ve e alag=e mue! ve Ui Aerdr @ Six 3! ST 3 arel fepy
39 7 B AT B! U B ATTRdT g | ISP a1pd, Fafafea # I fea &3 # g9 o) 9aifue Iy 82

1. Oral presentation skills / HT&& QQ-T:I.’ﬁ Hierer

2. Verbal concept formation/ #FI&H ITUROT ST
3. Block design/ selish f3aTgeT

4. Abstract thinking/ 34?{(5{ ara

Correct Answer :-

- Block design/ scileh T3STTS

3) Gender is determined while sex is determined. / foiar w ¥ FuRa aar ¢ et s L
¥ RuiRagargl

1. Socially, Culturally / m,m

2. Biologically, Socially / 3=, @raTiaier

3. Biologically, Environmentally /@ﬁiﬁ ,tPJﬁT:lTﬁ?F
4. Culturally, Biologically /IRepfa® ,Sifdd

Correct Answer :-

. Culturally, Biologically /i ,Sifaw

4) Children often blame themselves for parental conflict. What Piagetian principle explains this belief? / TTT HFET
m—ﬁm#ﬁgw@%ﬁvgaﬁwm%l R Rguia s@ faRam it F41 carEar w1 §2

1. Egocentrism / Tarey

2. A-not-B error / T-TgI-aT ?I:'ﬁ'
3. Conservation / TX&TOT

4. Animism / FaTcHATG



Correct Answer :-

. Egocentrism / &are

5) A set of rules that helps us to derive meaning is known as: / fI#Y #T v dc I gd IT AFEA F A wIAT 8,
T & T H AT AT 8

1. Sentences / AT

2. Phonemes / Blai&a
3. Words / s

4. Semantics / HHTCH

Correct Answer :-

. Semantics / @A

6) Trisha is an eight-year old girl who confidently performs arithmetic tasks that involve adding or subtracting zero from a
number. According to Piaget, which cognitive ability enables Trisha in understanding the concept?/ fX2IT & 33 auify

A 8, A ATcATAR AT § FFAOAT FF I § A vF T @ o F A a1 geEn afde g1 R
¥ AR, Pl H TAACHS 47T AT FY IFAUROT FAFA A WaTH qrelt 82

1. Decenter/ faehgor

2. Conservation/ HI&TOT

3. Logical reasoning/ dlfeherdl (dlifoteret Jstfaiar)

4. Reversibility/ faaiar

Correct Answer :-

. Logical reasoning/ dTféhehdT (ciftotehel {ISifaAaT)

7) By three years, the child is able to speak ./ et af a=, s _ &= # watA gt B
1. Syllables / 318X

2. Grammatically complete words / SATR[OIh & & EI'\U‘F Asc

3. Words / ?Teg;

4. Functionally complete words / FRITCHS & & 1ZI(;UST e

Correct Answer :-

. Functionally complete words / STaTcHS &I H EI'\U‘f Aesc

8) According to Abraham Maslow, is the summit of human motivation. / 3T§gH AT & 3N, HAlAd
O Y GRIHTSST gl

1. Safety need / {R“HT &Y 3T Har

2. Love and belonging need / Wﬁ]’ﬂT Ud &g ol ATGThdl
3. Need for Self-actualisation / 3TcH: —m A aTHar

4. Esteem need / GFHATT &1 3TaIhdl

Correct Answer :-

« Need for Self-actualisation / W—ﬁ?{ﬁ A aTSar

9) What type of memory processing involves focusing on the superficial characteristics of an object? / T R Fﬂ_ﬁ'
yEEET # Rt aeqg 1 Fadt Rdvar W e Hea wen afae 2



1. Deep level processing / ITeXT TAX TATHA

2. Partial processing / 37T THTET

3. Elaborative processing / ﬁ?—?(i_?-f FATErT

4. Shallow level processing / 3Yll TAX TATHA

Correct Answer :-

. Shallow level processing / 3Uell TAX TATYA

10) What principle of learning is observed when a child does well in an exam because he was promised a new phone? /

ftere &1 Fia w1 Riguia I@a a1 § 519 goar el wdaw F o yede Far § =i 3@ & av e #
arer fFar arar ar?

1. Negative reinforcement / sTehRTcHh gﬂéﬂ?—r
2. Negative punishment / FhRIcHS GUS

3. Positive punishment / HPRIcHS GUS

4. Positive reinforcement / hRIcHh l-lgu-ls‘loio-l

Correct Answer :-

. Positive reinforcement / hRIcHh Wﬂ'

11) What is the unit of heredity? / HTJafFar # FFE FAT T2
1. Zygote | AT
2. Gene / ST

3. Fertilized cell / fofa Fifrenr
4. Chromosome /m@m

Correct Answer :-

.« Gene/ 3fieT

12) A child does his chores because he will be rewarded with a chocolate if he does. What is the term used to describe the
chocolate? / T T Yl FIH FIAT ¢ FAITh IR T¢ FIAT ¢ al 3§ dihelc § REpA fHAT S| Aldele HT
ol #t § AT fFE s &1 3uAhr BFar srar 82

1. Operant conditioner / m‘\ﬁ 3-1?1_&’%
2. Punishing stimulus / g ECCARC

3. Reinforcer / Hdeldh

4. Neutral stimulus / I¢€T 36419

Correct Answer :-

. Reinforcer / Ydelsh

13) Trail and error method was put forth by: / TIcel T gﬁ fafer sa& gErr wfawfea #r a3:

1. Thorndike / &TeT8TSH
2. Kohler / ShTgalX

3. Piaget / TO=amat

4. Pavlov / gradlig

Correct Answer :-



. Thorndike / UTISTSH

14) A student who completes tasks to earn marks is motivated by:/ U &I SIf 3% Afoid == & Qv FF 9 FHIAT A

TF FAW IR g @

1. Knowing needs/ 3TaRISHT3 &l STTAeAT
2. Intrinsic factors/ 3Tcdeh HRb

3. Extrinsic factors/ STgT &hieh

4. Mastery goals/ H#gRd oI&d

Correct Answer :-

. Extrinsic factors/ STg Heh

15) Through classical conditioning, a neutral stimulus becomes a/an . | Ryfafssa HTWH (ﬁﬁﬁ' Eiw‘sff?lﬁ"ﬂ)
& ATYA A, F g IEUF T q ST §

1. Unconditioned Response / Wﬁ? ﬂm
2. Unconditioned stimulus / Wﬁ 3cardsh
3. Conditioned stimulus / FTelehell 3ecIdeh

4. Conditioned Response / ‘;I'I?_ﬁz_cff aa%m

Correct Answer :-

« Conditioned stimulus / l;l'l?:l’ﬁl‘:_c»?f ECCRED

16) A continuous loud noise is avoided by closing the door. This is an example of ./ ATt F 9 FIF AR 3T
arel At AT § F9T AT §1 AT T UF 3G ¢

1. Negative reinforcement / sThRTcH gﬂéﬂﬂ
2. Negative punishment / sTspRTcHb cUS

3. Positive punishment / HhRTcHsh GUS

4. Positive reinforcement / hRTcHSD gﬂéﬂ?{

Correct Answer :-

« Negative reinforcement / sTehIRTcHD go-lsfl oldd

17) During middle childhood, when faced with failure, what meaning would children attach to their experience? / #E€J
A9 & NI, 1T FAGAAT FT WHAAT FIAT G5 ¢, a6 Ted HqA HJHT § FAT FHSAN?

1. Shying away from activities in which they are likely to succeed. / Heprdl W&ET ifafafe=at & I Ed ¢ o1 379 awel
g & gHIET &l

2. Conclude that trying new things is better. / T8 faad &Y & 7% IS Hr HIFRAT AT 8K ¢

3. Conclude that failure is an indication of their incompetence, not a condition that can be modified by learning or practicing. / g

fchY fAFTIAT & 3BT 3T 36THAT &7 Tohd g, o o 0T ey & 99 316 e ar 3999 a9 &
i a8 fFar ST gehar &

4. Frustration and becoming more pessimistic about their abilities. /iil;'w_éT 3R 39T &N & Tey #F 31f¥e TRRmaKr g
SIS
Correct Answer :-

« Conclude that failure is an indication of their incompetence, not a condition that can be modified by learning or practicing. / g

sy fpTolar fof 3AWweIar 3edehT 38THAT T Tohd &, o fop 0dT Bufa § 9 3TORmT e a1 37999 o &
TMfT 8T fFar S Fehar g



18) Several tissues coordinate to give rise to a system. This is known as ./ FF Fd%, TH Yol H S=H & & faw
WHeAT FI 8l 9 ¥ F AT ST B

1. Continuity / feaRar

2. Integration / TehIeh{uT
3. Specificity / IR

4. Differentiation / TA®esT

Correct Answer :-

. Integration / TehIehqoT

19) Which theory integrates principles explored by chaos, network, and complexity and self-organisation theories? / leT-HT

fguia 3RoFar, Acaw 3R FRdar va srew-wrew Ryl g@rT we v Rgurat F vhwd T §?
1. Cognitivism / HaATATcHE

2. Connectivism / GATSTAATG,

3. Behaviourism / cIdgRdIq

4. Humanism / ATAddIdIG

Correct Answer :-

. Connectivism / GATTeIdIg

20) Which of the following is not a teaching skill in inclusive education? / fAFfaf@a & & Fia gaAed Rew & =
Rrator Fherer 7€ &2

1. Formative / fa&TomcA®
2. Achievement / 39elfeYl
3. Summative / JA3McHE

4, Performance / 9&eie

Correct Answer :-

. Formative / T@#ONcH®

21) Which of the following types of parenting is least likely to benefit a child’s development? / afaf@a & ¥ &Fa
YFR & IE-NYT § T3 & [@E & O @ ff GHEAT q9d FA 82

1. Permissive / 3-17-_!,?:!)'?\37

2. Uninvolved / 3rHSEY (HTdsllcAs ® 8 o 3T §3M)
3. Authoritarian / FATaTET

4. Authoritative / 38R

Correct Answer :-

« Uninvolved / 3HCY (HTGodlcHS §7 & o EEl §3-TT)

22) Which of the following steps should be taken in order to develop creativity in students? / Bl # [WACASaT fAsfad
A & v Aafef@a & @ Fi9 a1 Fga7 3o F=T TARE?

1. The teacher has to give freedom to respond. / T1&Te I UfAfhaT ¢t & ToIlT TadFAT coff aATfRU|

2. The teacher should deliver lectures on the importance of creativity. / 18T &I TATcHSDAT & Hged TR SIATEITT Sall

LY




3. Students should be given opportunities to ask questions. / ITdl &l T2l qpﬁ & v rq@y a1 afeul

4. Teacher himself should be creative. / RI&Te ST TaT 7 TATcHS® Bl dT8TI

Correct Answer :-

. The teacher has to give freedom to respond. / fr&Ter @ gfafshar ¢ & AT Tad=aar &= arfgw]

23) Which is the final stage of Piaget’s theory of cognitive development? / RIS & TaARTCHS AT F ﬁz}rrar $r
sifaw e sl @

1. Formal operation stage / 3iTqaRer dfshar 31aear
2. Pre-operational stage / qﬁ—m JqEar

3. Concrete operation stage / H\?‘f gfrar rgear

4. Sensorimotor stage / Tdqr T raeT

Correct Answer :-

. Formal operation stage / 3iYaaTier dfshar 3raeerm

24) pifferent parts of the body have / (X & fAffi= Rwal & gar &
1. Sporadic development / %TEI;C' AT AT Fgl-hel Taehrd

2. Uniform development / AT Tashr

3. Different rate of development / fd&rT & fafdieet eI

4.No development / HI5 farT =g

Correct Answer :-

. Different rate of development / T & faffiest X

25) If 20 dots are put along a straight line or curve, we see them together ignoring the gap between them. This follows which of Gestalt's
principle of perceptual organization? / 7fg 20 ﬁ'g’ o) e it araw TGS IY-A1Y @ ST % 3R B9 3P 9 & 3R Y
SFIHT B THATY 3T 8 | g ITTee & ATYRVTHD |18 & fordd Ricgia BT SRaRor Hvar 82

1. Law of continuity / TRadT T faasr
2. Law of proximity / faeredr &t faas
3. Law of closure / TaX0T &l AT

4. Law of similarity / T€IdT T I

Correct Answer :-

« Law of continuity / IGEGEGICIRGE ]

26) Teachers need to the needs of diverse group of student. / el @1 ol & fafqy qage P AP AT B il
STaLadHr g

1. Take care of / €ITeT (@1
2. Orchestrate / AVSTT Sellel
3. Handle / 8T &%t

4. Deal with / FHFSIAT HTA

Correct Answer :-

. Orchestrate / TSTAT TalTel



According to Jean Piaget, the process which involves changing our existing schemas in the light of new information is

known as ./ o9 T & SR, 98 ufthar R 75 IFeR & USI # §HR HISEl W1 B 9ga-T
e 8 P U § ST ST 8l

1. Equilibration / €T&T

2. Assimilation / 3TcHIATARIOT
3. Organization/ TSI

4. Accommodation / 3{TdTY

Correct Answer :-

« Accommodation / 3TdTH

28) Which of the following is most crucial for children to learn to live in a society? / ﬁaﬁ«r@a ek P T B U
T & 8 ¥ g W § e wewayul 22

1. To work on individual tasks / gfFaerd st o 1A HLT
2. To work collaboratively / TgIT & T FHILAT

3. To work for rewards /W%WWW

4. To work in isolation / TehTd & ShIH &hlall

Correct Answer :-

. To work collaboratively / TEJTIT & FHTH FHIAT

29) Which of the following can help the child to overcome failure in school? / fAHfeIRad # ¥ P-T1 9= ! faemeg &
BT B gR HIA A Ugg B THdl 82

1. Asking them to Focus on next assessment / 376 SFTcl Heih W & SHisd B DI Bl

2. Motivating and encouraging them to emphasize on efforts over ability / &HdT Y 3w T R SR S & ﬁ“l’Q G% oRa AT
IR Mefed

3. Giving them some free time for leisure / 3% 3TBTY B 1%1'@ DS [Tl gHg 37”
4. Changing their section/Class / RGEZ STHIT/h &l B dgd-
Correct Answer :-

. Motivating and encouraging them to emphasize on efforts over ability / &HdT T 3fYw T R IR a1 & fam G_-% PEGERGI
3R TieTfed AT

30) ’My test results show that | have an interest for sports but | do not have stamina to play’; which of the following tests

describes the above statement?/ "AY qdtator o gofd & & '{I’Q‘ ol & 3R ¢ AfFT A T AT F AT
Feaufad Agt & AEAfa@d # @ i a1 wetor IWTT FYT F1 JoiT HAT 2

1. Aptitude Test/H@Hﬁf qreToT

2. Skill test/ shierer gEraToT

3, Achievement test/ 3UelTeel TLI&oT
4. Intelligence Test/gaﬁr q_reToT

Correct Answer :-

- Aptitude Test/ 3Tfgfr gdieor

Topic:- General Hindi (L1GH)

1) 35 fFae 3, 35 fFamer 3, ager @R e §
N NN qE@T F



et & 3o §
HTHATA 8T 97 & A
R q@ @), 3 3@ ar
FA a9 afew 3@ ar
A ol F s A
AT [T Aw F

Tg AT AFI ;1§
WH A, AT ®a$
N [T, I N

e, g ¥ T I

T & el aTge, g+,

Y w oame

35+ T FA FAN

ATT-ATT F IA-IRT FT

e erl i dq T

@ s et W

Y @ &, siafEath

@ ¥

SUEFA YSIRT F GEH A g A a1 WA FT Sca} @0

weoT: P & @ @ oI deued AR Fwelt gl g e at e FEpem?
1. frare & gt

2. AT H ded

3.5 H WHER

4.0 7 frareT

Correct Answer :-

o AT H e

2) 35 fram 3, 35 frame 3, age RR T ¥
A F-I WET F

aTedt F 3w §

HHATT T 74T 3@ A

W 3@ a, W @ ar

FA 99 afew 3@ ar

N gt F s A

AT T A §

Tg HEAT AT TS

W AR, faaT @&

N R, F N

T, gl @ TawT I

T 3 oeal arge, g,
AN W e F

33 T FA T
ATT-ATT X TSI HT
3N FErt A T TR
@ 3 § et W



BY @« #, srafa=ih
# #a §
I9Fd JEART F TgF AT qF T qTd G T 3cal aa3vl

WeeT: SEUT-38X Sigl oY ¢@Y Aeel ¥ FAT ¥ w4 AR w 2
1. G319
PRCICIECE )
3. AT

4, YJ-9IR

Correct Answer :-

3) 35 fram 3, 35 frame 3, TG R T ¥
N I FaT F
aredt I 3w §
HHATT T 74T 3@ A
W 3@ a, W @ ar
FTA 919 afew 3@ ar
AN o F s A
AT e A §

Tg HEAT AT TS
W AR, AT @&
N [T, A N

AT, gl ¥ TeH AHE

T 3 oeal arge, g,
AN W e F

33 T FA TA
ATT-ATT T TSI HT
Mg FErt A T TR
@ 3 § et W

BT @a 4, el
@ F

IUGFT UGN F GG AT @ AW a1 WA FT 3l qa@sv

qeT: gIAith Wl F AT alF gAR A A SEAATT g1 ot §, B st At Agea vga 1 @ & 2
1. goIdTgT @
2. 9Tel ST
3. 8t &
4. SR &1

Correct Answer :-

o FIRET H

4) 35 fu 3N, 35 e 3N, T oY e §
N NN FET F

arefr ¥ 3w ¥

HTHA X 94T &@ ar



W 3@ al, W @ ar
FIa a1 dfew &
AN o F s A
AT [T e F

T HEAT AT TS
W A, AT ®aw®
N [T, A N

T, Fef ¥ Taw S

T & el aTee, g,
Y = e §

337 dTel A STAR
AT-AT F IA-IRS FT
Mg FErl Hr da TR
@ 3 § ol |

BY @ #, srafaaih
@ wa €

IUGFA USART F GG AT B AW a6 WA FT 3l Ty

TeT: dEe S YA WY qNT A df FREET & FAT dgeee dea?
1. ST

2. 3fareT

3.8

4.@d

Correct Answer :-

5) 35 fFare 3N, 35 frarer 3, aeer AT T §
A - JET F
et ¥ 3o §
HTEATA T 97 & A
R 3@ A, 3W W ar
FA 99 dafeF 3@ @
N o F RS
AT @7 AwF

Ig HAA ART TS
W A, AT wai
N T, Fa R

e, g § T I

6T & el aTe, g,
A = o §

354 aId FA FTAU
ATT-ATT F IET-IRS FT
3N erl Hir AT AT
4w A% § et W

T @q &, sfafAath



@ wa E

I9Fd JEART F TgF AT qF T qTd G T 3cal aa3vl

e STEal A fREd g G1eY e W §?
1. I &

2. a1 &

3. AlgH @

4. PERT &I

Correct Answer :-

o TERI #T

)

6) 35 fram 3, 35 frame 3, TG RR T ¥
N I FaT F
aredt I 3w §
HHATT T 74T 3@ A
W 3@ a, W @ ar
FTA 919 afew 3@ ar
AN o F s A
AT e A §

Tg HEAT AT TS
W AR, faaT @&
N [T, A N

AT, gl ¥ TH HE

T 3 oeal arge, g,
AN W e F

33 T FA TA
AT-ATT FT INA-TRS T
Mg FErt A T TR
& 3 § et W

BT @a 4, srafAglh
@ §

FUGFT USHNT F GG AT @ AW q WA FT 3l qa@sv]

weT: dee Qi A FiA-A1 T W §?
1. forahe

2. s

3. %Rl

4. JifafAteh

Correct Answer :-

7) 35 fFare 3N, 35 frarer 3, aeer A7 T ¥
AN - FIET F
aTeft & 3w §

HTHA X 94T &@ ar



W 3@ al, W @ ar
FIa a1 dfew &
A o F s A
AT [T e F

T HEAT AT TS
W A, AT @&
N [T, A N

T, Fef ¥ Taw S

T & el aTee, g,
Y = e

337 dTel A STALR
AT-AT F IA-IRS FT
Mg FErl Hr da T
@ 3 § ol |

BY @ #, svafa=ih
@ Fa €

IUGFT USART F GG AT I8 AW I WA FT Sl Ty

YT B Y Fheal W HAET FT F471 9 W o9 gar §?
L. %ael W H; T

2. %ad dF FT FHol

3. 39 el

4. Fael Q1 HiIsy

Correct Answer :-

8) 35 fruTeT 3, 35 fFue 3, S v 3w ¥
A - JET F
et & 3o §
HTEATA T 97 & A
R 3@ A, W W ar
FA a9 dafew 3@ @
N o F RS
AT @7 A F

Ig HAA ART TS
WH A, AT ®a
N T, Fa R

e, F5 § T I

6T & el amee, g,
A = o §

354 aId FA FTAUR
ATT-ATT F IGT-IRS FT
3N Ferl Hr AT AT
&w 3aY § et W

BT @q #, sfafAath



@ w5 §
I9Fd JEART F TgF AT qF T qTd G T 3cal aa3vl

woT: AT 3T TS GO F WU F4T 3@ 91 @I 82
1. % et aIRer g8 ¥

2.308 A FIS AGH

3. @t 1 oS e A §

4. %o &Y T ¥

Correct Answer :-

« IR 3o TR g% ¥
9) 35 frur 3N, 35 fFun 3N, TEa X e §
N I FaT F
aredt & 3T §
HHATT T 74T 3@ A

W 3@ a, W @ ar

FI i dafew &

A ot F s Y

AT e A §

Tg HEAT AT TS

W A, faaT @&

N [T, A N

T, gl @ Tt I

T 3 oeal arge, g,
AN W e F

33 T FA TA
ATT-ATT T TSI HT
Mg FErt A T TR
& 3 § et W

BT @a 4, srafAglh
@ F §

FUGFT USHNT F GG AT @ AW q WA FT 3l qa@sv]

e 39 Fiaar A A § B a9 F1 smeae fhar = @2
1. ST ST &I

2. 3fieTerel &l

3. 91 ST @

4. qTAT I HT

Correct Answer :-

o ST ST &7

10) 33 fFEE 3, 35 fFEE 3, aed fw e §
A I wET F

aredt ¥ 3w §

HTHATA $T I77 &@

R 3@ @, W @ ar



FA a9 dfFF @ @
A gt F s A
T T A §

I§ WA AFT IS
W AR, AT wa$
N AT, Fa N
AT, w5l & TawT IS

6T & e amge, g,
N W e §

354 9T FA FTAUX
ATT-HATT X ISA-IS HT
Mg PRt Hr W A
3@ 3R § WAl |

T @a #, srafAatd
@ Fa

SUGFA YSIRT F GEHT A IS AW a1 WA FT S} @y

TeT: R S TR U A F A F FE W TG TG 95 §?
L. HfASH T

2. ATITEST W

3. R W

4. B3t W

Correct Answer :-

o 7FTTEAT N

11) 35 fFEe 3, 35 fFEE 3, aea fx e §
O - JET F
arft ¥ 3w §
HTEATA 3T 9747 & A
FR &@ A, W dm A
FTA a1 afes 3@ ar
aX Wl # s @
AT [T e F

I§ T AR I
W A, AT ®a$
&« fAT, IFa N

T, Fgf § TR IE

T & el aTee, g,
a W e §

354 aI FA FTAR
ATT-ATT X IA-ISA HT
3% FERt A A T
W 3 § el W

B @a 4, srafAglh
# wa §



SULFA YSIRT F GEHT A IS A qT WA FT S} qa@gy|
oeeT: fFuEl & e wrad F1 il Ffy F FY Far §2
1. IR @

2. 3t &

3. 9T @

4. ST

Correct Answer :-

« dTeell BT

12) 35 5 3, 35 fFEeT 3, aea fx e §

O - JET F

arft ¥ 3w §

HTHATA 8T 97 & A

W 3@ al, W @ ar

FA a9 afes 3@ ar

A ol F s A

AT [T A F

I HEAT AT TS

WE A, A @a

N T, FE N

e, Fg ¥ ToF

T & el aTee, g,
A W e F

354 aI FIA FTAR
ATT-ATT FT ISA-IST FT
3% FERt A A T
@ 3R § el W

B @a 4, srafAglh
# wa §

IUGFT YGART FI GG A B AW a A FT Sl Ay

woeT: fraTer & e # gaeTeh frw e & amelt §2
1.3 WA

2. 3T TR |

3. 3= wEA §

4. 37T WER &

Correct Answer :-

o IO BHA ¥

13) 35 R 3, 35 fFae 3, aed AR e §
W I FET F

qreht F e §

HTHATA 8T 97 & A

SN @ @), W @ @

FA 9 afeaw 3@ ar



N it F s
AT @7 e F

Ig HA ART TS
WH AR, AT ®a
N T, FF N
e, F5 § T I

T & el aTe, g+,
& = e §

354 aTd FA FTAUR
ATT-HATT X IA-IS HT
e Perl i dq T
&w A% § et W

BT @q #, sfefAath
# F §

3UGFT YGHART FI GgHT A B AW aT WA FT 3l qaqgy|

WoT: T AYY e Wars fradr weur Aw Ig?
1. foRelr & 78T
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. &% afafafaEt & g
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. SRS
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Topic:- Science (SCI)

1) A creative teaching method to introduce kids to the world of science with fun, like basics of astronomy, biology, physics, earth science, etc. is:

[FARST & a1y e #1 gfam & q=at F 9Aw F f F Woeaw [ewor @B, A% & aate B, st R, stfod, gt
e anfe, faer &

1. Science Exhibitions / fa=TeT deeifaar
2. Science Games / fa&Te @el

3. Science Fairs / Ta<ieT #er

4. Science Songs / fa=reT Ifa



Correct Answer :-

« Science Songs / fa=ireT I

2) Who gave the model of “Cone of Experience”? /
"I IHE TEAAIRGE" FT Al fRE @ g
1. Burton / el

2. James S. Kinder / 970 Tq. fHsT

3. Edgar Dale / TSIR 3ef

4, Carter V. Good / &1 dT. s

Correct Answer :-

« Edgar Dale / T8IR 3T

3) Developmental Psychology is studied by other scientists, Except for:/

RFmacAs AR e F sisat 3 dafas) ganT redaa R o
1. Anthropologists / ATTG AR (TUATTIER)

2. Biologists/ STid A==l (SrATeliToree)

3. Physicians / #ifde o= (TRforerge)

4. Physicists / #ifa® g (Fafaaw)

Correct Answer :-

« Physicists / #ifa®w g (Fafaw)

4) What is one method of transferring information from short term to long term memory? /

ag-Frele ¥ dr-areller e & gEar Taeaia F@ A o [ av e
1. Rehearsal / qﬁr&w

2. Decaying / 9del

3. Delaying / faei@ar

4. Chunking / Tfear

Correct Answer :-

o Rehearsal / qsﬁ'S—W

5) What is the smallest unit of speech known as? /
HTYOT Y FaA B FHE FT FAT Fgl ST 2

1. Morpheme / & (ATHf)

2. Word / g (%)

3. Syntax / aTeFg-fg=ara (Feea)

4. Phoneme / TafHA (‘ﬁHTH)

Correct Answer :-

« Phoneme / TafaHA (‘ﬁm)

6) Permanent hardness of water is due to: /

Fel T FTIRT FORAT FT FROT §:
1.CaCO4

2. Mg(NO3 ),



3. MgCl,

4. N82CO3

Correct Answer :-

. MgCl,

7) Three forces 20N, 30N and 50N are acting on a body placed on the horizontal plane. Here, the 20N and 50N are
acting towards left and 30N is acting in the opposite direction. Now the resultant force acting on the body is: /

T &fAs ¥Add W W@ TF @y W 20N, 30N 31 50N & ofiet e oera &1 20 N 31T 50 N, 910 3T ord § 3tk 30 N fagdia
e & serar ¥ P 9T ot grer g aor fraer 2

1. 40N towards right / @ 3K 40 N

2. 40N towards left / ST 3R 40 N

3.40N in the downward direction / &I I 31X 40 N
4. 100N towards left / ST¢ 3 100 N

Correct Answer :-

. 40N towards left / sTT 31X 40 N

8) Ultra microscope is set up based on which property of colloids. /
I AFHEHIT Freligs & &y o1 & Iy W) FuRa B g

1. Brownian movement / ST3feiaeT aifar

2. Tyndall effect / fiCsar gat@

3. Electrophoresis / 3gcehoT el

4. Coagulation / StATT

Correct Answer :-

. Tyndall effect / f&ger gsmma

9) is not an organic acid. /
TF HFEAF IJFAT AET

1. Oxalic acid / 3o 3Far

2. Acetic acid / Tfafesw 3Far

3. Formic acid / Wiffie 3Fa

4. Carbonic acid / Fefas 3T

Correct Answer :-

« Carbonic acid / &fae 37Fd

10) is the only mode of heat transfer which doesn’t require a material medium. /
THAT FEAT TARATCRYT F1 a1 § Fad amaah aregw fr sraegsar a¢ @it 2

1. Convection / Hdgd

2. Heat pumping / Fs&T gffder

3. Conduction / dTelsT

4. Radiation / fafemor

Correct Answer :-

. Radiation / fafa=or

11) If the amplitude of vibration is increased to three times of its initial value, then the loudness of sound will: /



I F9T F HAW F FqF IRAF qed F AT o1 aF Jor 41 oam ¢, aOF eafar Air yaerar g
1. be doubled / @ [T

2. be six times of its original value / 30+ IRAfAH A HT ST :
3. become three times of its original value / 309 IRdfd® A BT o AT
4. become nine times of  its original value/ 3= ARATAd HIF &1 A1 AT

Correct Answer :-

- become nine times of its original value/ 39 ARATAdH HIF &1 A1 AT

12) In an electrical cell , the energy is stored as:

o fagga ¥ &, I B 3@ W A FAa BrAr S @
1. Charges / 3maeit

2. Heat energy / 3SAT 3ol

3. Chemical energy / T@™Ifeie Fall

4.Nuclear energy / U] Fil

Correct Answer :-

« Chemical energy / IEaAS Fair
13) Select the statement which is not true: /
3 YA FT TIT FY S FeF A &
1. Sound travels faster in metal than in air. / €afe, g &r 39&T a1 7 AT F AT FLA
2. Sound can be easily propagated through vacuum. /
e & aAregw ¥ wafd aEr & ga@Ra & 51 Fhdr
3.Sound can be produced by the vibrating air column. / &afs, HUe §aT TAH G@RT 3cUTied fhaT ST TehaTl ¥l
4. Sound can be propagated through any medium. / ot off e @ eafy ST § UAIRRA B S et B
Correct Answer :-

« Sound can be easily propagated through vacuum. /

fraTd & AregH ¥ eafe 3l O gERa 7 S dhar g

14) Select the pair of forces which are non-contact force: /

3 Fal & IA FT TGT F, AN ITRT (Al-Fleeae) ad o

1. Magnetic force and electrostatic force / Fehiar aef 3R U degdl oo
2. Muscular force and magnetic force / U2 s 3R Yaehrg Fol

3. Muscular force and frictional force / 9eft o 3R =TT oo

4. Electrostatic force and frictional force /RR degd Fof 3R ador Fof

Correct Answer :-

- Magnetic force and electrostatic force / Jahrr For IR R dega aor

15) In which one of the following cases will Common salt dissolve in water most readily? /
rafafEa & ¥ By Rufa & aruRor a7 get § 9@ Wadar § e 8@ smeen?
1.10gm of Ice at 09C / 00 dfcEae W 10 o 6

2.10 ml of water at 90°C / 900 ¥fewad W 10 Aefelex el
3.10 ml of water at room temperature / AT d9AT W 10 Feleiiexr stoT

4.10 ml of Ice cold water / Sthiel 33 el T 10 fAeNR

Correct Answer :-



« 10 ml of water at 900C / 90° ¥feHad W 10 AT oot

16) Alternating current is not used in: /
JeaTad URT FT 39T FEA d fRar San &
1. Transformers / SrEABIET

2. Electric heaters / faegd dmd+

3. Electric geysers / faegd fiew

4. Electro plating / fdege oe

Correct Answer :-

« Electro plating / fdegd ou=

17) The process of conversion of water vapour into liquid is called: /

el AT F ga A TIAIOT Y YRRAT Fgard &

1. Sublimation / F&duTdsT

2. Condensation / Teetet

3. Melting / 3TeleT

4. Fusion / @f&ssor

Correct Answer :-

. Condensation / Heslel

18) During rainy season the rain water goes deep down into the earth passing through different layers of soil.
Which one of the following processes does not occur during rain water seepage into the soil? /
o & Atew F ey F1 oE Bed & Rt wal & R g qed & wed F aer s @
aRer & el % Fred F R § ok Reatated # @ #ia @ o a8 oRd @t 37

1. Filtration / feredesT

2. Sedimentation / 3adTesT

3. Distillation / 3TddeT

4. Decantation / faedRoT

Correct Answer :-

- Distillation / 3&dsT

19) Identify the correct set of isotones among the following options. /

Arfaf@d Reeat & ¥ gaeafas & 3RT dT i g wi)
1N and 80
180 and 30
4%Ca and 33K

$94Ar and 13K
4,

Correct Answer :-
15 16
2N and *30



20) If ‘F’ is the force, ‘m’ is the mass and ‘v’ is the velocity, the dimensions of ‘X’ and ‘Y’ on the relation
F = X(mv) / (1 + Y) are respectively /

IR P aaE, ‘m ggAT IRV AT E, @F = X(mv) F "o & X 3k Y F a3 @a-

LT, T

2. LT LT2

3.T-1, dimensionless / T-1, 3marA&

4. dimensionless, T / 3maTAG, T

Correct Answer :-

« T1, dimensionless / T, 3mam#d

21) The commercial unit of energy is expressed in terms of: /
FaT 1 ST gH1$ 3 Y&l & eqFd AT AT &

1. Nm

2. kW

3. Joule

4. kWh

Correct Answer :-

« kWh

22) Which of the following surfaces absorbs the least amount of heat energy when exposed to heat radiation? /
fAfaf@a & @ Fia @ wag I BT & ¥9F F 3 | FA ¥ FA F5AT Fo1 F @ART FA F?

1. Surface coated with white paint / @%he Ye & oftd adg

2. Surface coated with red paint / &el e & U adg

3. Surface coated with black paint / #Tel U & ot ddg

4. Surface coated with dark green paint / g3 8% tc ¥ Afdd Idg

Correct Answer :-

. Surface coated with white paint / %hg Yc & «fdd adeg

23) Which of the following statement is true: /

rfaf@a & ¥ w9 a1 Fya T &

1. Thrust is the force acting normally on a surface. / 819 Ush Hdg W AHT T A HH e dTell a gl
2. Pressure is directly proportional to the area. / &aTd, &1thel & Ycda&l Uil &

3. As thrust increases pressure decreases. / SI8-o1& &9 d¢dl § &a1d & giar ar &l

4. Pressure is inversely proportional to force applied. / G&Td, AN §d & fausid U &

Correct Answer :-

. Thrust is the force acting normally on a surface. / &9 Tsh Tdg W AT & & HIH A drell o g

24) Which of the following combinations are most suitable for composite fish culture? /
e acrues F v PRl § @ s @ g9 T sagEa

1. Middle zone feeders and bottom feeders / #ALT T HIST TG dlcH HIST

2. Surface feeders only / &ae Tdg s

3. Surface feeders,middle zone feeders and bottom feeders / Tdg WIex, Hed Wi WIS U SicH i
4. Surface feeders and bottom feeders / Tdg WIS Ud dIcH BleR



Correct Answer :-

. Surface feeders,middle zone feeders and bottom feeders / dg HIST, A T I Td dicH Bl

25) Which of the following natural phenomena cannot be predicted accurately? /
frafafaa & ¥ Fa yefas gear i ¥8F sfysgamoh a8t fr 1 wwd &2

1. Lightning / festelr

2. Thunderstorm / 3{Tef-cehret

3. Earthquakes / &9

4. Cyclones / dTshard

Correct Answer :-

- Earthquakes / &9

26) Which of the following is not an animal protein? /
Trfafad & F91 vF g BT a8 272

1. Wool / FeT

2. Silk / XA

3. Milk / g&r

4. Pulses / gTof

Correct Answer :-

« Pulses / cTef

27) Which of the following is not related to sound? /

rafaf@a & @ Fia o ol F Fefoa ad @2
1. Frequency / 3mgf

2. Microphone / ATSShIBIA

3.Loud speaker / @138 TR

4. Myopia / ATET

Correct Answer :-

- Myopia / #TaE=AT

28) Which is not a major advantage of Crop Rotation? /
frafaf@a # § F31 O IradT F qET A AL 772

1. Additional use of fertilizers / 3dXent &1 3ifAReFT ITTT

2. Conservation of soil productivity / HeT 3cqTaehdl T TR&ToT
3. Weed control / @X9daR fez=or

4. Increased yield / 39sT # gefr

Correct Answer :-

. Additional use of fertilizers / 383t &T 3faRea 3gArer

29) Choose the incorrect physical property of non-metals. /
Tt & Igfa sifasw aor F A =W

1. Generally they have low density. / THAId: Gelcd Ha Il gl
2. They are not sonorous. / W H@Eﬁ?f %I

3. They are brittle in nature. / El?ﬁ T 'J-I'{R fﬁﬁ %I



4, They have high tensile strength. / 3@ d=IdT &HdT gt gl

Correct Answer :-

« They have high tensile strength. / 3= d=IdT &HdT gt %I

30) Choose the incorrect statement among the following: /
e & & 3T aFaes w1 99T F:
1. Potassium is always stored in water. / GEfAa &I gHAT U= F I@T ST B
2. Potassium can be cut easily with a knife. / NERITH T T § A & FHTel ST Hehell gl
3. Potassium reacts with dilute acids to produce hydrogen gas. /
gIgsioiet 39 &I 3culeat el & v iRfReH oo 37 & ary AT e g
4, Potassium when burnt in oxygen forms its oxide. /
ST F ST AW 9T AR & 3Edss s ar
Correct Answer :-
. Potassium is always stored in water. / QTR &I AT UAr & T@T AT gl

31) When a spring is stretched by 2 cm, it stores 100J of energy. If it is stretched further by 2 cm, then the stored
energy will be increased by: /

I TF FAR P 2 A aF ared A oar ¥, @ sEE 1000 I g g ¥, Iy 3@ 2 99 ik e afee e s §
T FUdid For # fraet geftr g

1.400J
2.100J
3.300J
4.200J
Correct Answer :-

. 300J

32) Out of the following options, select the correct relation for the electric power. /
frafaf@a Reedl # 9, Rega afFa & A 7 d@u &1 a3 +)
1.P = V/R?

2.P = V2R

3.P = I/R?

4.P = 2R

Correct Answer :-
« P =V2R

33) An olfactory indicator among the following is: /
T & &g ve uor gEw

1. Phenolphthalein / ®stereafosT

2. Soap / ATgsT

3. Clove / difar

4. Turmeric / gedl

Correct Answer :-

« Clove / @far



34) The SI unit for measurement of length is: /
4TS Bt HIY ¥ e S1 5T &

1. Millimeter / fRelidIex

2. Kilometer / fheliaitex

3. Centimeter / HEIHTET

4. Meter / #eX

Correct Answer :-

« Meter / FIeX

35) If a student is able to make predictions in an experiment by making logical connections using correct evidences, he/she is capable of:

/
Tfg o1g frendf ad) wied) 1 STRT $3& aIfh® Gae a1 fpdt TRt § yd-gamm 33 & wam 8, dt 9 e & wam &
1. Drawing conclusions / fsh¥ fashrerr
2. Observation / 3fdeliehel
3. Experimentation / TN
4. Providing explanation / TIBIHRUI Y& BT

Correct Answer :-

« Drawing conclusions / @Sy fRerrer=ir

36) What is mineral oil? /

@i o 1 82

1. A mixture of glycolipids / TNSHITTAS T Teh fH#OT

2. A mixture of hydrocarbons / E‘IBE’H?IQHT FT TH fASOT

3. A mixture of lipids and minerals / ToIfast IR @fAst & v Hsor
4. A mixture of water and oil / Ul 3R JoT HT UH TR0

Correct Answer :-

« A mixture of hydrocarbons / ETSSIhTe=i T Teh fA#OT

37) Find the time taken by the sound to travel through a distance of 5 km, if its frequency is 2.5 kHz and the wave length is 20 cm. /
gfe wafy &Y sngfr 2.5 fraieds @ ok avvreed 20 At @ &t 39 5 fefht F1 arn == famn o @, 319 32

1.2.5s / 2.5 ¥Fs

2.20s / 20 &3

3.10s / 10 ¥&3

4.15s / 15 Qs

Correct Answer :-

. 10s / 10 Qs

38) Neem leaves and its twigs are used in the production of tooth pastes.

Identify the substance present in them which prevent tooth decay. /

A & ot ik sudT EAAT FT ITAT STHRFA/ATE F IUIGT A FAT AT &1 FHH IUAY gidl BT FSA ¥ P Nohed AT ded AT
ugaE

1. Carboxylic acid / @rafeeifores 3t

2. Alkali / 3Teehelr

3. Mild acid / gehT 31Fa

4, Salts / oIquT



Correct Answer :-

« Alkali / 3Teholl

39) Which one of the following factors will change the magnitude of Equilibrium constant for the following reaction?
Nag) + 3Hz(g) = 2NH3() /

fFafaf@a 3 @ o9 1 R Fafafaa sifufes ¥ e o dgaa & aikmmr i gqa Tm
N2(g) + 3Hz(g) = 2NH3(g)

1. Use of finely powdered Iron catalyst / ais <ot @l 3c9a &l 39T

2. Decrease in the pressure of Ny / No(g) & aaTd & el

3.Increase in Temperature of the reaction / 3ifAfshar & AT # gefer

4. Concentration of Reactants / 3iffieaiehl I Tigdr

Correct Answer :-

« Increase in Temperature of the reaction / 3AfhaT & ATYAT & defer

40) Which of the following is not a part of the 5E constructivist model of teaching-learning? /
frafafEa & @ $19 Rrgor-ofrm & 5E WRa-aTE) Alsa o1 v 78 82

1. Engage / Teldel (WaTT)

2. Elaborate /ﬁ?—?—(lﬁ' ( TesIT)

3. Enhance / SR ( T=igH)

4. Explain / a0TeT (TFTol)

Correct Answer :-

« Enhance / SgR (TeTgd)

41) Which of the following is not a characteristic of a good textbook? /

fFrafatea & ¥ @ @ e ot uresugwas Ft faRwar 78 82

1. It may not cover the entire syllabus of one stage. / I Teh TAIVT & ‘~'-I3 qIoTshd I AfEAfed T I Feholl gl
2. It is a finished product for transferring the knowledge. / Ig§ T & EEAIRUT & foIT U R 3cure g1

3. It should not be self-contained. / T§ TIHT AT 37cH FiFEATAT 78T 8=l T1fRTI

4. Tt may not be necessarily for a whole year. / T8 T R Y & forg 31azaes e 81 Gavd 2

Correct Answer :-

« Itis a finished product for transferring the knowledge. / Ig TeT & BFHHTUT & T T AR 3cure %l

42) Which of the following is an objective for teaching students of higher primary level (V, VI, VII)? /
T UIIR® WR (V, VI, VII) & Bt & e & fog fafif@a i s assxa §?
1. Development of understanding of laws, concepts and principles /
T, sauromst R fBgwidr fr g@sT & e
2. Development of power of reasoning / a& I afFa &1 [em|
3. Development of practical outlook / SATAGIRS ETSCHIVT T o |
4. Development of interest in reading scientific literature / I aifed qa%{ T & &1 fawm|
Correct Answer :-

« Development of power of reasoning / @ #T AFd &1 |

43) An example of merry-go-round can be used to explain which of the following scientific concepts to the students? /

AH-M-ISs (FStam) o1 Ierervr Hafafad # @ $i9 I e R 31 ol & gHs & e @ fear &1 gear 82



1. Oscillatory motion / HMEGRIGIIG
2. Rotation of Earth / “T_?«_cﬁ T 'EI;USIH'

3. Gravity / I[&cd

4. Centripetal force / aﬂ'ﬁ@rﬁ'@' E)

Correct Answer :-

« Centripetal force / aﬂ'ﬁ@ﬁi’@' E)

44) Clinical thermometer is designed to measure the: /

A yafier # f5 A & e fEomg= ot man 2:

1. Temperature of the chemicals used in the clinic / Felifeieh H YIFA THREAT HT AIATT
2. Temperature outside the clinic/ Flfeier F STEI ATIHTT

3. Temperature inside the clinic / Felifeier & 3ieT ATIHTA

4, Temperature of the human body / AT IRR &7 qrgq=

Correct Answer :-

« Temperature of the human body / HIFd ¥ IR &1 aroHE

45) What is the duration of kharif crops? /
GHE wadl 1 @iy 7182

1. June to October / 3T ¥ 3HFc

2. March to September / I I RideR

3. October to March / 3fagaR I u

4. November to April / TdsR § 3lid

Correct Answer :-

« June to October / ST & 3

46) An object completes 120 revolutions in 30 seconds along a circular path. The ratio of its frequency to its period is: /
TS a3 U URUT U4 UX 30 AHS H 120 RN Bt T FHR! 31 39 ATy & g 39t gy &1 3qura &:

1. 1:4

2.1:2

3.16:1

4. 4:1

Correct Answer :-

. 16:1

47) The force acting on the bullet when it moves through the air towards a target is: /
A W T 9161 96, 99 gaT ¥ 31 BT 3T IgaT @ @l d&7 3:

1. Force due to the gun / §g& & HNOT §ol

2. Gravitational force alone / 37aer W EE)

3. Gravitational force and frictional force. / J&carhyoT &of 3 T¥oT &el|

4, Frictional force alone / 3Tl ©YUT o

Correct Answer :-

- Gravitational force and frictional force. / I&carehyur el 3R E¥oT e |

48) Expanding and cooling of hot air results in: /



T g1 1 R ok e e & @ Rt ufvoma g #:
1. Condensation / Hgelel

2. Vapourisation / arefieRur

3. Hail storm / SIS

4, Precipitation / &

Correct Answer :-

. Condensation / HegeleT

49) The radiations absorbed by ozone are: /
ST gRT Sraxifiye fafdwor §:

1. Ultraviolet rays / qrsiarsit foneot

2. Infra red rays / 3{a3ad fomor

3. Gamma rays / AT fRoOT

4. X-rays / T@I-X

Correct Answer :-

« Ultraviolet rays / TRrelarsir fomoT

50) A bus is moving with a speed of 72 km/h, convert its speed into m/s: /
T 99 72 fFift/ et 3t vfy @ 7o & 3, st afa &t @t/F & ufivafda a3
1.10m/s / 10 #:/A

2.720m/s / 72 F/&A

3.30m/s / 30 #/&

4.20m/s / 20 #F/J

Correct Answer :-

« 20m/s / 20 #Hra

51) A teacher explains that during experiments, one can verify results using more than one method. This shows an understanding of which
attribute of scientific temper? /

F RerF sgrear & ¥ F gt & e, ve @ afRe Rt w1 suhr w3 aRumAT # weaRa A s awar #1 s delw
TaoTg AT HiT W RFAYAT F1 e g

1. Critical thinking / 8= fideT

2. Open-mindedness / TEOTMeTT

3. Respect for evidence / AT&T & T gFAe
4. Logical thinking /m’ﬁ'ﬁ? IEGGE

Correct Answer :-

« Critical thinking / 3TgsT RideT

52) For a person suffering from hypermetropia, the image of the object is formed: /
el v A Nifda u@ afda & Rre avg &1 wfafde Far a9ar @:

1. Behind the retina / e & 9

2.In front of the retina / Y= & dHa

3.0n the retina / T W

4.0n the eye lens / a7 ol W

Correct Answer :-



. Behind the retina / =T & 9

53) Glucose drip is usually given to a physically weak patient because: /
TP U AR R INRE U FUeiRk 73 31 far s § wife:

1. He is not drinking enough water. / g 9aTcd STof gt T IgT &iaT &1

2. Dehydration can be prevented. / SEY THSielle0T HT AT T Hhel B

3. It readily gets absorbed for energy. / dg dXddl Y SHoit F g Sraxnfia g Siar g1
4. He gets a balanced diet. /dg T Fl?jf?ﬁ 3TER U1 81

Correct Answer :-

« It readily gets absorbed for energy. / dg HRdd Y it P g Sranfid gt oar g1

54) If the angle of incidence in the first medium is equal to the angle of refraction in the second medium, then the
absolute refractive index of the medium is: /

gfe ugd Arend ® Smufad S0 guR w1 ¥ Sryad= & 10T & JHH 8, °f w1eay &1 guf suade gueie 3:
1.1.33

2.1.1

3.1.0

4.1.5

Correct Answer :-

- 1.0

55) Which one of the substances mentioned below is not responsible for the depletion of ozone layer? /
1 w7 werd & & S A1 Siivi W & sraard & g Iarardt 8 32

1. Carbon tetra chloride / FIeeT eFARTSS

2. Ammonia / 3T

3. Aerosols / Qﬁ?ﬁﬂ

4, Chlorofluoro carbons / a%hﬁnﬁahﬁamh

Correct Answer :-

« Ammonia / mfaar

56) Which one of the organisms mentioned below is a herbivore ?/
1 afta Sitdl 3 & B T TEEr 82

1. Shark / T

2. Peacock / AR

3. Frog / ﬂﬁ

4. Mouse / 9gI1

Correct Answer :-

« Mouse / TgT

57) Gallinaceous domsticated fowl,bred and raised specifically for meat production is: /
Tegpape-uadt uraq ueht, 7va ot fafdy & u & 9iw Iare & fig ureh wirdt 2:

1. Rhode Island / U5 3Mgels

2. Turkey / 9% qafr

3. Broilers / sigeR



4. Ducks / s[i@

Correct Answer :-

« Broilers / sifgerR

58) Unambiguous instructions are always required for: /

F & v gaem wose @Ader smaedw g &

1. Long Answer type questions / e 38T uee

2. Supply type objective questions / 3TclstT (3-1T1ﬁ) IFR & a?-—c_gﬁ%' IRt
3. Selection type objective questions / TIeT YhR & a’;—gﬁ%’ TR

4. Short Answer type questions / o€ 3AAT TR

Correct Answer :-

« Selection type objective questions / TIeT TP a'z-—cﬁr%' IRt

59) Fishes live in water. It is their natural____ Use the right biological term. /
wofadl, arlt # Techt &1 Ig 3 WHfaw ¥ 39gEd Sfaw asq FT G4 W)
1. Home / &

2. Habitat / 3mar&@

3. Environment / ardraor

4. living space / Jg T TUTT

Correct Answer :-

» Habitat / 3TarE

60) Which of the following topics clearly demonstrates the interdisciplinary nature of science? / Rwafaf@a & ¥ i @r
v Tre w0 @ e #1 seaRfvas yfa #1 gerar 2

1. Colloids / HIIISs

2. Evolution / 3¢HT

3. Programming / TG (SITTHAT)
4, Astronomy / @Tel ﬁa}ﬂ

Correct Answer :-

« Astronomy / TaleT ﬁa}ﬂ



